x[1] j= 0.219
gini = 0.496
samples = 153
value = [83, 70]

x[0] j= 1.98 x[0] {= 0.047
gini = 0.198 gini = 0.263
samples = 63 samples = 90
value = [7, 56] value = [76, 14]
— x[1] = -0.171 x[1] j= 2.337 x[1] j= 0.852
gini = 9.0 g[ir]li — 0.455 g[ir]li —0.42 g[ir}li —0.16
samples = 43
value = [0, 43 samples = 20 samples = 10 samples = 80
> value = [7, 13] value = [3, 7] value = [73, 7]
gini = 0.231 gini = 0.0 gini = 0.0 gini = 0.0 gini = 0.397| gini = 0.034
samples = 15| samples = 5 | samples = 7 | samples = 3| samples = 22| samples = 58
value = [2, 13]|value = [5, 0]|value = [0, 7]|value = [3, 0] value = [16, 6]value = [57, 1]




